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This test has two parts. Part | as well
as part Il consist of 90 questions in
each.

Each question carries one mark.

Since the time allotted to the two parts
of this question-paper is very limited,
you should make the best use of it by
not spending too much time on any
question.

Extra page has been provided for
rough work at the end of question
paper.

Do not mark more than one answer of
any question on OMR sheet
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Avoid cutting/over writing/use of fluid
etc. on OMR Sheet.

Attempt each question, there is no
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Questions: 1 to 90

PART-l (¥TI-1)
MENTAL ABILITY TEST
difgsd arrgdr gieor

Directions: (Q.1to7)

Each letter of the alphabet from Z to A
bas been given a value from 1 to 26
serially. Solve the questions on the
basis of value of words.

Q.1 SWEET = 63, SALT = 56, then
SOUR=

(1) 62
2) 70
3) 35
4) 56

Q.2 Which word has the maximum
value at most?

(1) MOUTH
(2) THANK
(3) TANKER
(4) TABLE
Q.3 Which words have the equalent
Value?
(1) FEAR ACID
(2) BASE THANK
(3) WATER SEAT
(4) SOUR SALT

Ada (m.197)

Zd AP DI IUIHTAT b UAD &R Bl 911
HH: 1 A 26 & a1 A1 B 1 I8 B _H
& YR R fA=ferRad uvH g B -

91 SWEET = 63, SALT = 56, <l

SOUR=
(1) 62
2) 70
(3) 35
4) 56

9.2 b9 v P1 99 Haifds 27
1

(1) MOUTH
(2) THANK
(3) TANKER
(4) TABLE

U.3 P 9 < GHHE qH B g7

(1) FEAR ACID
(2) BASE THANK
(3) WATER SEAT
(4) SOUR SALT




Q.4

Q.5

Q.6

Q.7

Q.8

Q.9

Which equation is Correct?
(1) E+L=A

(2) V+L=G

(3) U+L=E

4) Y+L=1

(K-Q) (U-Y) (A-K-Q) =7

(1) 24

(2) 06

(3) 04

4) 00

Which one has the least value?
(1) ROOT

(2) STEM

(3) LEAF

(4) FRUIT

Select the Correct Statement?
(1) ROOT +Yis STEM.

(2) STEM - Dis LEAF.

(3) LEAF +Tis FRUIT

(4) FRUIT -Qis STEM

Which one of the following words
will Come at fourth place in the
Dictionary?

(1) Rare

(2) Rain

(3) Rapport

(4) Rabit

Which one of the following words
will come at second place in the
Dictionary?

(1) Acidity

(2) Adolescent

(3) Adult
(4) Alternative

9.4

9.5

9.6

9.7

9.8

9.9

PIF W B0 | B?
(1) E+L=A

2) V+L=G

(3) U+L=E

4) Y+L=I

(K-Q) (U-Y) (A-K-Q) = ?
(1) 24

(2) 06

(3) 04

(4) 00

gAaH A fdaer 27
(1) ROOT

(2) STEM

(3) LEAF

(4) FRUIT

HE BAF BT TIT BR?
(1) ROOT +Y is STEM.
(2) STEM -Dis LEAF.
(3) LEAF +Tis FRUIT
(4) FRUIT-Qis STEM

fA=fofaa 9 #9-91 v T aIen
¥ =AY WH R IJR—[IM?

(1) Rare

(2) Rain

(3) Rapport

(4) Rabit

A=foifRaa & ®9-41 v srs@Ie |
TR A R JR?

(1) Acidity

(2) Adolescent

(3) Adult

(4) Alternative




Directions : (Q. 10 to 20)

In these questions, a series is given with
one term missing. Choose the Correct
alternative from the given ones that will
Complete the series.

Q.10 100, 64, 36, 16 ?
(1 8
(2) 6
Q) 4
4) 2
Q.11 125, 5, 64, 4, 27, 3, 8, 2?
1) 2,1
2) 3,2
3) 4,3
4) 5,4
Q.12 23,19, 17,13, 11, ?
(1) 9
2) 7
3) 5
4) 18
Q.13 27, 64, 64, 81, 125, ? , 216
(1) 175
2) 169
(3) 100
@) 121
Q.14 10, 11, 11, 13, 12, 15, 13, ?
(1) 14
2) 15
3) 16
@) 17

fAader (u. 10 & 20)

U H U @ (3gshA) ) TS
forad te ug g« 21 Ry 1T faweni | @

I8 fAsed AT Sl o gpa B R PR |
9.10 100, 64, 36, 16 ?
(1 8
(2) 6
3) 4
@) 2
9.11 125, 5, 64, 4, 27, 3, 8, ??
(1 2,1
(2) 3,2
3) 4,3
(4) 65,4
9.12 23,19,17,13,11,?
(1 9
2 7
3) 5
(4) 18
9.13 27, 64, 64, 81, 125, ?, 216
(1) 175
(2) 169
(3) 100
@) 121
9.14 10, 11,11, 13, 12, 15, 13,?
(1) 14
(2) 15
(3) 16
4) 17




Q.15 122, 145, 170, 197, 226, ? 9.15 122, 145, 170, 197, 226, ?
(1) 265 (1) 265
(2) 260 (2) 260
(3) 257 (3) 257
(4) 240 (4) 240
Q.16 102, 83, 66, 51, 38, ? 9.16 102, 83, 66, 51, 38, ?
(1 27 (1) 27
(2) 30 (2) 30
(3) 32 (3) 32
(4) 36 (4) 36
Q.17 18, 23, 27, 30, 32, 33, ? 9.17 18, 23, 27, 30, 32, 33, ?
(1) 38 (1) 38
(2) 36 (2) 36
(3) 33 3) 33
(4) 32 4) 32
Q.18 B,E,I,N, T, ? 918 B,E,|,N, T, ?
(1) z 1) z
2) A 2) A
3) Y @) Y
4) G SR
Q.19 D-36,F-49, H-64, ? 9.19 D-36, F-49, H-64, ?
(1) 1-81 (1) [1-81
(2) H-81 (2) H-81
(3) J-81 ) J-81
(4) K-100 (4) K-100
Q.20 DZ, EY, FX, GW, ? 9.20 DZ, EY, FX, GW, ?
(1) HV (1) HV
(2) HU (2) HU
3) IT Q) IT
4 IR 4) R




Directions : (Q. 21 to 22)

Study the following figure and choose
the Correct answer?

Q.21 How many squares are there in
given figure?

(1) 25
(2) 32
(3) 55
@) 125

Q.22 How many triangles are there in
givenfigure ?

(1) 20
(2) 24
(3) 32
4) 40

Directions : (Q. 23 to 26)

A series of letters are given which follow
a certain Pattern. However some Letters
are missing from the series. You have to
find out the right set of Letters from
alternatives that can be inserted into the
blanks of the series.

Q.23 mmnn_nm_mm_ _nn
(1) mnnn
(2) mmmn
(3 nnnn

(4) nmnn

Ade (u. 21 9 22)

fr=ifea R &1 s1sgTa &1 @ 9
IR Bl T BRI?

¥.21 fau gy = 4 fem ot €7

(1) 25
2) 32
3) 55
4) 125
u.22 foyge R H fbam fByw 8?2
(1) 20
(2) 24
(3) 32
(4) 40

fAder (9. 23 & 26)

JeR D TP J@en & TS ¥, Wl TH
fAf¥ea ®a 4 21 | sEeR @ A g«
g1 &R P TH W&l 99 - [y U
fawedl & @ wifey, o7 Rea i 3t
gt a5t < E S |

9.23 mmnn_nm_mm__nn

(1) mnnn
(2) mmmn
(3 nnnn
(4) nmnn




Q24 mnanam__mn__n
(1) mnaam
(2) nmmaa
(8 naaam
(4) amnma
Q.25 abcm_cba_bcm_ _ba b
(1) aaaaa
(2) mcama
() mamca
4) mmma
Q.26 amm__na_mmm__nhnha__am___
(1) mmnam
(2) nanam
(3) nmnam
(4) aaamn

Directions : (Q. 27 to 36)

In each of the following figures,
numbers are written according to some
patterns and one number is missing,
shown by question mark. Find the
missing number that replaces the
Question mark.

Q.27

An
LY

Y24 mna nham__mn__n
(1)
(2) nmmaa
3)

4) amnma

mnaam

naaam

9.25 abcm_cba_bcm_ _ba_b

(1) aaaaa
(2) mcama
(8) mamca
(4) mmma

Y.26 amm__na__mmm__nhna__am__

(1) mmnam
(2) nanam
(3) nmnam
(4) aaamn

fAder (9. 27 ¥ 36)

e & T TP g # T e wa
IR FB HeEATt foredt 1 71 37 A
& g« g, o’ uea g & <ot
gl g 9= 9| BRI Wl g R @
WU IR SUGE & |

9.27
el
NEBZ

1
9
5
0




9.28

9.29

10
17

(4)

12

108

24

42

9.30

3)

3
5

(1)

()
3)
(4)

Q.29

(1)

()
3)
(4)

10
17

12

108

24

42

Q.30

(1)
(2)
3)
(4)



Q.31 6 ] 2 | s 9.31 6 1 2 | s

3|17 1|5 3|17 1|5
m 1 9] 4|2 M 1] 94 |2
2) 2 2) 2
) 3 ) 3
(4) 4 4) 4
Q32 1 ><8 27 125 64 ? 932 1 ><8 27 125 64 ?
1 2 3 5 4 9 1 2 3 5 4 9
(1) 512 (1) 512
(2) 729 (2) 729
(3) 343 (3) 343
(4) 81 (4) 81

G - aT
&7 (857

(1) 64 (1) 64

(2) 53 (2) 53

(3) 46 (3) 46

(4) 09 (4) 09
210 210

@6 202 @102 20@25 @6 202 @102 20@25
215 215

4

(2) . (2) 7

@ 9 (3) 9

@ 8 (4) 8

10



Q.35
3 11 29
1«'»5 13«'»19 23 «'»31
7 ? 37
(1)
(2)
)
(4)

A CB DE G
G J

F

12
14
15
17
Q.36

(1)

2)
)
(4)

Directions : (Q. 37 to 38)

In these questions, different positions of
adice are given. Answer the questions ?

& 6 & &

Q.37 Which number is opposite to 5 ?
(1 1
2) 3
(3) 2
4) 4

—

I

J
K
L

11

9.35
3 11 29
1+5 13+19 23+31
7 ? 37
1) 12
2) 14
3) 15
4) 17
9.36
A CB D E G
F G J
O
2 J
3) K
4) L

fAader (u. 37 1 38)

3 U A T UM @) fAfts Rufadt
g € 2| o=l @ @iy g g geEl @
IR AT |

& 6 & &

U.37 I 1 3, 3 - 5 P faudid 27

(1 1
(2) 3
@) 2
4) 4



Q.38. Which number is oppositeto 2 ?
(1 3
(2) 4
) 5
(4) 6
Directions : (Q. 39 to 40)

Three different positions of a dice are
given below:-

Q.39 Find the number of dots on the
face opposite to the face with one
dot.
(1)
(2)
(3)
(4) 5

Q.40 Find the number of dots on the

face opposite to the face with six
dots.

(1)
(2)
) 3
4) 2
If you are 15th in a row from either

side, how many persons are there
inthe row?

2
3
4

5
4

Q.41

15
30
29
31

(1)
(2)
)
(4)

12

U.38 B9 A1 3P, qPH-2 d fAusia B?
(1 3

(2) 4

3) 5

4) 6

fAder (u. 39 & 40)

= 9™ @t 9 - Ruafadt & S

gl

9.39 Bad R U6 fdg & faudia vae &
fagati @t wwm sma a7
(1) 2
(2) 3
@) 4
(4) 5
9.40 B W 6 fagel @ fawsia are
wAd B a3l 3t AE= A BRA?
(1) 5
(2 4
(3) 3
4) 2
u.41 af ve ufda 4 fht 5 AR 9 A=

IR 39l % 15 df g o gfad |
fhaq aafaa 2?2

(1) 15
2) 30
(3) 29
4) 31



Q.42

Q.43

Q.44

Q.45

There are some pillors on the road.
The length of the road in 1000
meters. While each pillor is
situated at a fixed distance of 50
meters. How many pillors are there
on the saidroad?

(1) 20
(2) 21
(3) 22
(4) Itis difficult to say.

Pointing to a boy, Rakhi said, "He
is the son of my mother's maternal
uncle”. How is the boy related to
Rakhi.

(1) Brother

(2) Uncle

(3) Cousin

(4) Maternal Uncle

Pointing to a boy, Rohit said, "He is
the son of my father's uncle". How
is the boy related to Rohit?

(1) Uncle

(2) Brother

(3) Neppew

(4) Cousin

Ink is related to ........ ?
(1) Book

(2) Pen

(3) Paper
(4) Hand Book

U.42 IS R FY @ ol E| TS DI

g 1000 Hiex gl wEfd 9D
fAf¥aa 50 #iex 3t @ w® tF T@=
M 2| IA1S TS e R fhaq @
R gUE?

(1) 20
(2) 21
(3) 22
(4) war BfA B

.43 I A U dISD Pl MR FIMRT B

gY &, 98 99 A & "M @
AP 21’ 99 oIS W AW Bl [T
T 87

(1) %
(2) =ren
(3) =T M
(4)

U.44 fTd A TP IS Bl AR SIMRT B

S 21”7 99 dIsd | Afd &1 w1
JqE 27

(1) =r=
(2) g

(3) HdISI
(4) AR 4TS

(1) g=o
(2)

(3) @IS
(4) Sr

13



Q.46

Q.47

Q.48

Q.49

Q.50

Radio is related to..... ?
(1)
(2)

Echo sound process

Visual Aids

(3) Audio Aids

(4) Audio-Visual Aids

In a Certain Code RANGER is

Written as REGNAR how is TABLE
written in that Code?

(1) ELBAT
(2) TALAB
(3) ELTAB
(4) BELTA

If DEAR is Written as FGCT, how
will READ be Written?

TFGC
TGFC
TGCF
FGCT

(1)
(2)
(3)
(4)
If 7" day of any month comes three
days later to Monday, then which
day will be on 20" day of that
month?

(1)
(2)
(3)
(4)
Which pair of numbers is
different from the rest.
(1 3,1

(2) 5,13

(3) 17,23

(4) 1,64

Tuesday
Wednesday
Thurasday
Friday

9.46

.47

9.48

9.49

9.50

IS BT A -

(1) wfaeafty ufsan

(2) T G

(3) &g AHUl

(4) HI—gI AHA

Ife f=fl wrsfae “mem §# RANGER
P REGNAR for&n iran @ df TABLE
1 1 fer@a’?

(1) ELBAT

(2) TALAB

(3) ELTAB

(4) BELTA

gfe fbft Grofae 99T § DEAR &1
FGCT ferar Siram & df READ &1 &1
forg?

(1) TFGC
(2) TGFC
(3) TGCF
(4) FGCT
Ife fb=dt w1 &1 7 Ig AHaR A
T4 o e It g @ 99 w1 &)
20 IRg B B9 |1 f&7 2 ?
(1) HITeAdR
(2) dEarR
(3) gEfIar
(4) YPAR
A= 4 9 o991 ST R 9

f=12?

(1) 3,11
(2) 5,13
(3) 17,23
@) 1,64

14



Q.51 PRANAY walks along arectangular
park having 5 km as lenght and 2
km as breadth. If he Completes the
round then how many km he
walked?

(1) 7Km
()
©)
(4)
Directions : (Q. 52 to 54)

12 Km
9 Km

14 Km

Which of the alternative will come in
place of question mark ?

Q.52 ABD : CDF :: MNP : ?
(1)
(2)
3)
(4)
Q.53 LNPQ : ACEF :: TVXY : ?
(1)
(2)
3)
(4)
Q.54 CDEF : fghi:: ? :kimn
(1)
(2)
)
(4)

LNO
OPR
KLM
VXY

MNPQ
OQRT
STVX
IKMN

hijk
FGHI
HIJK
NOPQ

U.51 3Jfe YOI TP JITPR UTh b IRI

IR QI FdpR ol g ot
g 5 fael. 3R dreTs 2 fa.
1 g8 fait R =er?

(1) 7 f&H.
(2) 12 .
(3) 9 fep.
(4) 14 foH.
fAader (9. 52 & 54)

fau gu el 4 4 9 @1 e ueA
I g & A R IMgIm?

9.52 ABD:CDF::MNP:?

(1) LNO
(2) OPR
(3) KLM
(4) VXY
9.53 LNPQ: ACEF :: TVXY : ?
(1)  MNPQ
(2) OQRT
(3) STVX
(4) IKMN
9.54 CDEF :fghi::? :kimn
(1) hijk
(2) FGHI
(3) HIK
(4) NOPQ

15



Directions: (Q. 55 to 59)

The questions are based on the
following statements.

(A) Seeta, Rajender and Surender are
Children of Mr and Mrs Dikshit.

(B) Renu, Raja and Sunil are Children
of Mr and Mrs Bhardwaj.

(C) Sunil and Seeta are married and
Ashok and Sanjay are their
Children

(D) Geeta and Rakesh are Children of
Mr and Mrs Vashistha.

(E) Geeta is married to Surendra and
has two Children Reetu and Raju.

Q.55 How is Rajender related to Raju?
(1) Brother
(2) Uncle
(3) Brother-in-Law
(4) Maternal Uncle
Q.56 How is Rajender related to Ashok?
(1) Father-in-law
(2) Uncle
(3) Brother-in-Law
(4) Maternal Uncle

Q.57 How is Rakesh
Surender?

related to

(1) Brother

(2) Uncle

(3) Brother-in-Law
(4) Maternal Uncle

fader (9. 55 | 59)

A yeq ffeafad aaael wR snarfRa &

(@1 e, o g Y- SWE @
et Hfra 3t v &

@) v, e G Gd— SEE 9 st
HRETS B! AT & |

@) gt g e &1 faare gan € qon
NP I g STt WA 2 |

@) N g wBe- sht T shh aftrs
B FAE 2|

() i @ g @ ) g€ 7 SR
S Aet 9 W5 A I B |

U.55 ol $I o] A a1 A4 87
(1) w8
(2) @
(3) it
(4) A

U.56 IToI=s I 3eNE A a1 Rean 87
(1) ¥R
(2) @
(3) it
(4) #mH

U.57 S P Y= A 1 Rean g7
(1) «rg
(2) =
(3) et
(4) =




Q.58 Renu is Sanjay's?
(1)
(2)
3)
(4)
Q.59 Whatis Sanjay's surname ?
(1)
(2)
)

(4)
Directions : (Q. 60 to 64)

In the following figure rectangle, Square,
Circle and Tringle represents the
regions of Coal, Iron, Gold and Silver
respectively. On the basis of this figure,
answer the following questions

/

Aunt
Sister
Sister-in-Law

Cousin

Bhardwaj
Vashistha
Dikshit

Sharma

/ 7

Q.60 Which area produces Iron and
Gold only

(1 2
(2)
3)
(4)

0o b~ W

U.58 U], ol B R TP
(1) gam
(2) §&T
(3) drel!
(4) = 98T
U.59 Hol &1 MA (SUH) F1 87
(1) 9RgTS
(2) aRrs
(3) dférd
(4) =i
Ade (9. 60 & 64)
=1 smgpfa W sy, @@, ga @ Ayw
HHI: B, IEl, AT 9 afdt B &3 Bl

ufafAfa & € 1 Mg & snuR w A=
el & SwR o1y

/

/7

U.60 P19 A aF § ddd gl AR AT
Saifed grar 87
1n 2
(2)
3)
(4)

3
4
8

17



Q.61 Which area produces Gold and

Silver only
(1) 10
2 11
3) 8
4) 6
Q.62 Which area produces all the four
minerals?
(1) 8
2 9
(3) 10

@) 1

Q.63 Which area produces Coal, Iron
and Gold but not Silver?

1 9

2) 5
3) 4
4) 2

Q.64 Which area produces Coal, Gold
and Silver but notlron?

(1) 6
(2) 9
(3) 10
(4) 11
Directions : (Q. 65 to 66)
Read the following directions:-
If + means minus
- means multiplied by
=+ means plus and
X means divided by, then.

Q.65 10x5+3-2+3=7
(1) 7
(2) S
@) 117,
@) 177,

.61 B9 9 &7 ¥ Bdd Q1 AR dic]
Irfed grdr 87
(1) 10
2) 11
(3) 8
4) 6
.62 39 839 ¥ IRI @S &1 ST
B 87
(1) 8
2) 9
(3) 10
4) 11
u.63 &9 &= 9 dgen, g 9 |
Scifed g & fbeg =il 7217
(1) 9
(2) 5
() 4
4) 2
.64 9 a3 4§ Pgen, @41 9 =il
Scqifed il & fobeg e 71817
(1) 6
2 9
(3) 10
4) 11
fAader (u. 65 A 66)

fA=ferfaa fRden @1 = A v —
e+ &13ed "er

- 13 TOm

+  PrafiwHia

x draRiyrE, @

7.65 10x5+3-2+3=7
(1) 7
2) 5
3) 117,
4) 177,




Q.66 (2-4x8)-0-5=7

(1)  -35
2) 30
3) 1
4) 0

Directions : (Q. 67 to 68)

In these Question, arrange the items in a
meaningful order.

Q.67 (1) Plant(2) Food (3) Seed (4) Leaf

(5) Flower
(1) 1,3,4,5,2
(2) 3,5,2,4,1
(3) 3,1,4,5,2
4) 5,4,3,2,1

Q.68 (1) Study (2) Books (3)
Examination (4) Student (5)
Result

(1) 4,2,3,1,5
(2) 4,2,1,3,5
(3) 2,1,4,3,5
4) 2,3,1,4,5

Q.69 Vijay is facing East. He turns in
Clock wise directing by 90° then
180° in the anti-clock wise
direction and then another 90° in
the same direction.

Which direction is he facing now?

(1) South-East
(2) West

(3) South

(4) South-East

19

9.66

(2-4x8)-0-5=72
(1) -35

(2) 30

Q) 1

4) 0

Ader (u. 67 1 68)
39 9%l #, "l P [iefe pH | AT |

9.67

9.68

9.69

(1) drerm (2) @re (3) 91 (4) gt
(5) me

(1) 1,3,4,5,2
(2) 3,5,2,4,1

(3) 3,1,4,5,2

(4) 5,4,3,2,1

(1) 1T (2) @ (3) Ten
(4) B3 (5) uRomH

(1) 4,2,3,1,5

(2) 4,2,1,3,5

(3) 2,1,4,3,5

(4) 2,3,1,4,5

fasra &1 g7 qd Y 3R ®1 98 90°
sfaongd (at @t g3 @t e ),
gadl €, S 91 180° I
(ot ot fawdia fen A) goan ®
IR 39S q1g It fem # 90 gHan
Bl I8 qarzd & o SHaT eV
fPafRmatairg?

1
g3y
3) &g
4) <fero—gd

(1)
(2)
3)
(4)



Q.70

Q.71

Q.72

Q.73

How many numbers are there
between 17 to 180 which are
divisible by 19 but not by 2 ?

M 2

2 4

@ 5

4 7

There are five houses ABCDE in
arow. Ais right side of C and
left side is E.

E is left side of B and

B is left side of D. Which house is
inthe middle?

(1) B
2 C
3 D
4) E
Chetna's age was square of a

number last year and it will be
Cube of anumber next year.

How Long must she wait before
her age is again the Cube of a
number ?

(1)
(2)
(3)
(4)
What is the smallest number of
ducks that could swim in the
formation -two ducks in front of a

duck, two ducks behind a duck,
and a duck between two ducks?

10years
38 years
40 years
63 years

Three
Four

(1)
(2)
3)
(4)

Five
Seven

9.70

9.71

9.72

9.73

179 180 & Ty fha-il =T O &
S 19 9 favrey & afds 2 9 =17

(1 2

(2) 4
) 5
“4) 7
ABCDE U9 =R U® ufdd § 81 A, C
B IUIAREAT I E,BD 91U &, B,
DP AU | B9 AT ER 928 § 27

mo O W

fUoa ara a1 ot Iy fasit wn
& T P IR1ER 2} 3R 3T AT a8
Uh & & 99 P SxE” BN
IAP! AY IaRT fA w=n & =54
P R @, S9P fow S fhaq
JHY 3R glen Bl BN

(1)
(2)

10 A1t
38 Tt
(3) 40 9T
(4) 633
fhat 9 &9 | FF 9@ |
WYE Y R Aol ',

g B M < Id
aﬁﬁiﬁtﬁ@ﬁac—d@
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Q.74

Q.75

Q.76

Sonu is taller than Rinku. Amit is
taller than Sonu. Subhash is taller
than Amit. Sattu is tallest of all. If
they stand according to their
height who will be exactly in the
middle ?

Sonu
Rinku
Amit
Subhash

(1)
(@)
3)
(4)

A Clock goes slow from mid
night by 5 minutes at the end of
the first hour, by 10 minutes at
the end of the second hour, by
15 minutes at the end of 3rd hour
and so on. What will be the time
by this clock after 6 hours ?

(1) 5.15am
(2) 5.30am
(3) 6.00 am

(4)

6.30 am

The figure above is a drawing of
Pile of Block. When taken apart,
how many blocks would be there?

250
435
509
512

(1)
(2)

.74 <A, Ry A own 71 eiffg, W A

.75

9.76

o R g, Siffd | e #)
Ax 999 =1 21 Ak 9 B B

ITAR @S B a1 7L | P9 8 ?
(1) &g

(2) Ry

(3) orfa

(4) gH™

TP TSl el va A, g 6 B
=1 H 5 fie, TR 9ve & = H
10 fAqe, "R v & I ¥ 15
fA9e 3R 0 yPR <ie Bkl e

21 I8 gar= & 6 Tue 91 =St |
1 11 BT?

5.15 am

(1)

IR & TE R Dl B IR B
Udh IREA gl ] AP 3T
I B A1 S @Y @ |
faraeit Brtt ?

(1) 250

(2) 435

(3) 509

(4) 512
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Directions : (Q. 77 to 78)

In each of the following series, one term
is wrong. Find out the wrong term from
the alternatives given below-

Q.77 16,25,36,49,64,81,94
(1) 9%

(2) 49

(3) 16

4) 25

1, 27, 125, 343, 829, 1331
(1 1

2 27

(3) 829

4) 1331

Directions : ( Q 79 to 90)

Q.78

A and B plays foot ball and hockey. C and
D play badmintion and Cricket. D and E
play Cricket and foot ball. E and A play
hockey and badmintion. B and C play
Cricket and hockey.

Q.79 One who plays maximum no of
games.
(1 A
2 C
@) D
4) E
Q.80 Onewho does not play football.
(1 A
(2) B
3 C
(4) D

Ader (w. 77 1 78)
Aeafofea den g@an 4 ta 9@ Toq
21 Tod 9@ B Ry v faweni § |
gfe?

9.77 16,25, 36,49,64, 81,94

1) 94
2) 49
3) 16
4) 25
1, 27, 125, 343, 829, 1331

(1)
(2)
(3) 829
(4) 1331
Ader (u. 79 | 90)
A q B |edld 3R 8 Werd €1 Ca D
Jsfive g fhde Wed €1 D 9 E fhae
3R qedld Wed €1 E 9 A gt 3R

Jsfued Wed €1 B 9 C fibae 3R gral
Qe B

U.79 9ail¥e Wl B Wordl &7

(1)
(2)
)
(4)

9.78

N —

7

1 A
2 ¢
@ D
4) E
U.80 Wedld BIF T8l Wer ?
1 A
2 B
3 ¢C
4) D
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Q.81

Q.82

Q.83

Q.84

Q.85

One who does not play
badmintion.

(1 A
(2) B
@ C
4) D

One who does not play Cricket.
(1 A

2) B
(3) C
4) D

One who does not play hockey .
(1 A

(2) B
@) C
4) D

What is the Correct mirror Image
of T?

(1 T
2
@) F
4 L

How many numbers among 1 to
10 are there that do not show
any Change in water image
shape?

(1 2
(2) 4
@) 3
4 7

23

9.81

9.82

9.83

9.84

9.85

Jsffieq #I9 T8 Waan ?

= T8 Wordr?

UOUJ)>§LDOWJ>

o 9 |l ufafas @ gm?

—
N
~

3)
(4)

1910 & fig W fbas 7R &
o arit / amfa A8t aeer?

=T o N =
N N
~ o &N



Q.86

Q.87

Q.88

No Change in shape in water
and in mirror that number is-

(1 1
(2 3
@ 7
4) 8

There are same in shape in
mirror and in water that articles
are these:

(1) UVHI
(2) HIOX
(3) CDIH
4) OAHX

If the given figure is folded to
form a box, which among the
boxes below will be formed?

9.86

9.87

9.88

fa TR 3t srpfa 9 SR g
A @A URAEH gl |

(1)
(2)
(3)
(4)

0 N W -

Ty 3R 9l # e wHH
IR T+t TEehl @ d 38R A B

gfe fau v oA &) 9T & wU |
ST 9T 1 S99 A= 94 9 I 491
dfeRT IR |
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Q.89

Q.90

If the given figure is folded into a
Cube, which is the only Cube
that can be produced amongst
the following?

(o)
(o))
[e]e)

0o
©

(e)e]
(e)e]

©

9,

4
4

:
496

Two positions of a dice are
shown. Which number will
appear on the face opposite the
one having 5 ?

(1)

@ &

2
(@) 4
4) 6

25

9.89

9.90

afe = g srpfd B Tw uF |
e foar Sv a1 = A P4 e
T4 B ATHR Pl ave fe@rs 2m?

(o))
(o))
[e]e)

00
©

(e)e]
(e)e]

oy &
9 PE!

V4
4

T & 9™ I 91 Rafadi fewrs 12
2 DA 9= 5 9 Bold D
faasia 9 U= B | 87

BN

o A~AN





